Year S Maths Solutions

Monday, 20t April,

Solution, - Al the Digits

Th@mbyﬂm@@m@mﬁmnmxb&*&ﬂmbmg@%ﬂx@h—'
rumber are [, 5 and 6. 7, 8 and 9 aneﬂtoobxg; Thesumoaﬁwbwoéﬁ
t}wsel&g;\eate:\’dnqu. Fovaxampl&:

7+8=15

8+9-/

9+7-16

O, land 2 connotg,oomthe(ﬁmsthmbecause

O % 3 = 0 (same number twice)

| % 3 = 3 (same number twice)

Therefore the third number must be 9 (S + L) because 6 + 5 and 6 + L
The fourthy number irv the . -figure: number cannot be: S as' 5 % 3 = 15
(repeats digty ).

The fourthy number also- cannob be 6 as then we would, get 8 twice, so
it must be L.

So; the last two- digits must be S then 6 so theyre nobt v order.

Thwi&ﬂwan&uenall;({:o«mogx\eed/om




Tuesdmub 2lst APNL

Solution - Use eachs of the numbers below once.

Make each circle add up to 3
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Wednesday 22" Apnil
Solution

You have a set of digit cards O to 9. Each one is used once and only once.
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Use these digit cards to make two two-digit numbers and six one-digit

numbers so that each statement is correct.
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Thursday 23 April
Solution
Thursday, 234 Apeil

You have a set of digit cards O to 9. Each one is used once and only once.

O||1(/2]|3||4||5||6]|/7]||8]|9

Put the ten digit cards here to make two one-digit numbers and
four two-digit numbers so that each statement is correct.

o || & Is a multiple of 8

- O Is a multiple of 9




Friday 2L April

Presents

&l

The presents were

all.differ'enf The most expensive
prices present cost less What could the
than £16 price of each

present be?
The presents cost
a total of £40

Solution

One;possiblean&uepl&:

£I5.31 + £12.00 + £12.69.

There will be many others! Houwr many can youw find? Is there o
paﬂ:ex\n:?



